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English Noun Grammar

Issues effecting inflection

S.1

S.2

S.3

Cases.
=« Ifaword is the subject of the sentence, it is in the subjective case.

= |Ifaword shows possession, it is in the possessive case. You can either put “of” in front of
the word, an “apostrophe s” after the word, or just apostrophe if the word ends in “s”.

< Ifaword is the direct object, it is in the objective case.
< The indirect object is the person/thing that is “indirectly” affected by the action of the
verb.

Number. Words can be either singular or plural, depending upon whether they refer to one, or
more than one.

Gender. Some words, mostly pronouns, change their form depending upon whether they are
referring to a masculine, feminine, or neuter object.

< Natural gender means that a word takes on the gender of the object it represents.

Parts of Speech

S4

S5

S.6

Noun. A noun is a word that stands for someone or something.
Adjective. An adjective is a word that modifies a noun (or another adjective).

Prepositions. A preposition is a word that indicates the relationship between two words. The
word that follows the preposition is called the object of the preposition. The object of the prep-
osition is always in the objective case. The preposition together with its object and modifiers is
called a prepositional phrase.

General Issues

S.7

S.8

S.9

S.10

Lexical form. Whereas most people call them “dictionaries,” scholars call them lexicons. The
form of the word found in the lexicon is called the “lexical form.”

Definite article. The definite article is the word “the.”

Indefinite article. In English, the indefinite article is the word “a.” Greek does not have an
indefinite article, although in certain circumstances you will be able to add “a” to your transla-
tion.

Subject and Predicate. A sentence can be broken down into two parts. The term subject
describes the subject of the verb and what modifies it. Predicate describes the rest of the sen-
tence, including verb, direct object, etc.



S.11

S.12

S.13

S.14

S.15

S.16

Summary of Basics of Biblical Greek

An adjective is a word that modifies a noun or pronoun. They can function adjectivally or sub-
stantivally and be in one of three positions.

= An attributive adjective gives a quality—an attribute—to the word it is modifying. It is nor-
mally articular, agreeing with the noun it modifies in case, number, and gender.

= Asubstantival adjective has no word to modify but rather stands on its own and performs
a function in the sentence. Its gender and number are determined by what it stands for, its
case by its function in the sentence.

= An adjective in the predicate position tells us—predicates—something about the word. A
predicate adjective can function either adjectivally or substantivally and is always anar-
throus.

= When there is no article with the noun or the adjective, context decides its function.

A pronoun is a word that replaces a noun.

= Apersonal pronoun is a pronoun that replaces a noun referring to a person.

= The word that a pronoun refers back to is the antecedent.

= The same word can be either a pronoun (“That is mine.”) or an adjective (“That car is
mine.”).

Personal Pronouns. Pronouns can be first person, second person, or third person.

= First person refers to the person speaking (“I”’, “we”).

= Second person refers to the person being spoken to (“you”).

= Third person refers to all others (“he,” “she,” “it,” “they”).

Demonstrative Ponouns. Demonstratives in English are “this/these” and “that/those”
(singular/plural).

Relative Pronouns. The relative pronouns in English are “who,” “whom,” “that,” “which,”

and “whose.”

= Arelative pronoun introduces a clause that usually modifies a noun.

= Arelative clause is the relative pronoun and the clause it introduces. “The teacher who has
a halo around his head teaches Greek.”

Clauses. Clauses can perform many of the same functions as nouns and adjectives.

= Subject (“Whoever is with me is not against me.”)

= Direct object (“I eat what is placed before me.”)

= Obiject of a preposition (“Give the Bible to whomever asks for it.”)



Alphabet & diphthongs

Alphabet

Alpha
Beta
Gamma
Delta
Epsilon
Zeta
Eta
Theta
lota
Kappa
Lambda
Mu

Nu

Xsi (xi)
Omicron
Pi

Rho
Sigma
Tau
Upsilon
Phi

Chi

Psi
Omega

Diphthongs
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Alphabet & Diphthongs
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as in aisle
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as in sauerkraut
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a as in father
b asinBible

g asingone

d asindog

e asin met

Z asindaze

e as in obey

th as in thing

i asinintrigue
k as in Kkitchen
| asinlaw

m as in mother
n asin new

X as in axiom
0 asin not

p asin peach

r asinrod

s as in study

t asin talk

u asthe German i
ph asin phone
ch asinloch
ps asin lips

0 asintaone
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Greek Noun Grammar

Issues effecting inflection

S.17

S.18

S.19

S.20

Cases

S.21

S.22

S.23
S.24
S.25

S.26

S.27

S.28

Stem. If you take the case ending off a noun you are left with the stem. If it is a third declension
stem, drop the genitive case ending.

Gender. A noun is either masculine, feminine, or neuter. A noun has only one gender and it
never varies.

Case endings. The case of a word in Greek is indicated by the “case ending.” This is a suffix
added to the end of the word.

Declensions. There are three basic inflectional patterns that a word can follow. Each of these
patterns is called a “declension.” Which pattern a word follows has no effect on its meaning,
only its form

= Nouns that have a stem ending in an alpha or eta are first declension, take first declension
endings, and are primarily feminine (e.g., ypaon).

= Nouns that have a stem ending in an omicron are second declension, take second declen-
sion endings, and are mostly masculine or neuter (e.g., an0ctoA0G; EpYOV).

= If the stem of a word ends in a consonant it is third declension (e.g., cdpt).

Nominative. The nominative case is used to indicate the subject of a verb and the predicate
nominative.

Genitive. The genitive case indicates possession. The word in the genitive usually follows the
word it is modifying (vouot 100 0gob).

Dative. The dative case is used to indicate an indirect object.
Accusative. If a word is the direct object of the verb it will be in the accusative case.
Vocative. The vocative case is the case of direct address.

Word order. Grammatical function is not determined by word order but by case endings.

= Asageneral rule, try to maintain the same order of the Greek words in your translation if
possible.

Lexical form. The lexical form of a noun is its nominative singular form.

Parse. When asked to “parse” a word, you are to specify the case, number, gender, lexical form,
and meaning of the inflected form.
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Greek Cases
English cases Greek cases and uses Question Key word
1. Subjective (he) 1. NOMINATIVE Who? What?

a. Subject of the verb

b. Predicate of “is”

VOCATIVE (direct address) “Q”
2. Possessive (his) 2. GENITIVE Whose?
a. Possessive “of”

b. Obiject of Preposition
Direct object

d. Ablative (separation) “from”

3. Objective (him) 3. DATIVE
a. Indirect object to whom? “to” /”for”
to what?
b. Obiject of Preposition
Direct object
d. Instrumental (means) by what? “by”/*“with”

e. Locative (place) where? “in”

4. Objective (him) 4. ACCUSATIVE
a. Direct object of the verb whom?
what?

b. Obiject of preposition

Formula for key word usage:

The word has the case ending, so | know that it functions as the in the sentence; therefore
| translate it with the key word .
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Master Case Ending Chart

A dash means that no case ending is used. An underline means that the final stem vowel changes to the
one listed in the chart (rule 5).

S.29

S.30

S.31

S.32

S.33

S.34

nom sg

gen sg
dat sg

acc sg
nom pl
gen pl

dat pl

acc pl

Rule 1.

Rule 2.

Rule 3.

Rule 4.

Rule 5.

Rule 6.

first/second declension third declension

masc fem neut masc/fem  neut
G - v G - -

v c v oG oG
! ! ! ! !

v v v o/v -

1 ! o &G o
wv wv wv wv v
g g g ouv) ouv)
g s (0] oG o

The Basic Rules Governing Case Endings

Stems ending in alpha or eta are in the first declension, stems in omicron are in the
second, and consonantal stems are in the third.

Every neuter word has the same form in the nominative and accusative.

Almost all neuter words end in alpha in the nominative and accusative plural.

= In the second declension the alpha is the changed stem vowel; in the third it is
the case ending.

In the dative singular, the iota subscripts if possible.

= Because an iota can subscript only under a vowel (in which case the vowel
lengthens), it subscripts only in the first and second declensions.

Vowels often change their length (“ablaut™).

= *“Contraction” occurs when two vowels meet and form a different vowel or diph-
thong (Aoyo + 1 » AOyw).

= “Compensatory lengthening” occurs when a vowel is lengthened to compensate
for the loss of another letter (Aoyo + vg » A0yog » Adyoug).

In the genitive and dative, the masculine and neuter will always be identical.
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S.35

S.36

Rule 7.  The Square of Stops (showing what happens when joined with o).

Labials b1
Velars K
Dentals T

B o
yooox
5 6

= The vt combination drops out when followed by sigma (movt + ¢ » 70c).

= Whatever happens in the nominative singular third declension also happens in
the dative plural. copx + ¢ » copE. copk + o1 » GapEL.

Rule 8. A tau cannot stand at the end of a word and will drop off.

= When no case ending is used in stems ending in -pot, the tau drops out (dvouot
+ - » ovopot » Gvouo).

Select Paradigms

S.37

First and second declension

2

masc
nom sg 0 AOYyoG
gen sg 00 AdyoL
dat sg 0 AOY®
acc sg OV AOyov
nom pl ol Adyot
gen pl TOV Aoywv
dat pl 10l Adyolg

acc pl TOUg AOYOUG

1
fem

n ypoon

n opo

NG YPOOG
NG WpoG
™ ypodn
™ wpe

™y ypodnv
v Opov
ol ypoupoil
TOV YPOLODV
TONG YPOLdOiGg
06 Ypodog

2
neut

10 £pyov

00 £pyou

0 £pYQ

10 Epyov

0. €pyo
TOV Epywv
101G £pyolg

10, EpyQL
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S.38

S.39

S.40

Definite Article

S.41

S.42

Third declension forms

nom sg:

gen sg:
dat sg:
acc sg:

nom pl:

gen pl:
dat pl:
acc pl:

TOIG

nom sg
gen sg
dat sg
acc sg
nom pl
gen pl
dat pl
acc pl

Vocative.

*GopK
3
oopK O
oopk 1
oOpK O
OOpK  €C
cOpK  QV
ocopE v

oOpK  0¢

masc
TOG
TOVTOG
oVl

TOVTOL

TOLVTEG
TOVTWV
Toov)

TAVTOG

*xopit
xopt
XOPLT
XOpLT
XOPLT
XOPLT
xopit
XOpL
XOPLT

1

fem
OO0
TOONG
oo
OO0V
OO0
TOLCWV
OO
TAOOG

S
og

&g
v
ouv)
oG

*ovouot

ovopo.
ovouoT
ovouot
ovouo
ovouoT
ovouoT
ovouo
ovouort

3

neut
oV
TOVTOG
oVl
oV
TOVTO,
TOVTOV
Toouv)

TOVTOL

05

wv

ou(v)

*ToTL

TioTL
TioTE
TioTE

TloTL

TioTE
TOTE
nioTe

TOTE
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S
wg

1S
v
ou(v)
1

< Inthe plural, the vocative is always identical to the nominative plural (&vépwmor).

< In the singular first declension, the vocative is the same as the nominative (a:8s\on).

< In the singular second declension, the vocative ending is usually epsilon. If you were
speaking directly to a man you would say, dvOpwre.

< In the singular third declension, the vocative is usually the bare stem of the word, some-
times with the stem vowel being changed due to ablaut. The vocative of natnp is matep.

Agreement. The article has case, number, and gender. The article always agrees with the noun
that it modifies in case, number, and gender.

Article. The Greek article is usually translated “the.” The general rule is to translate according
to the presence or absence of the article. If an article is present, translate it. If there is no article,
do not use “the.”

= There are times when the meaning of the article seems to shift. 0 8¢ means, “but he.”
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Preposition

S.43  The meaning of a preposition depends upon the case of its object. For example,
= S0 with the genitive means “through.”
= S0 with the accusative means “on account of” if its object is in the accusative.

The object almost always immediately follows the preposition.
S.44  If aword is the object of a preposition, do not use the key word.

S.45  The form of a preposition does not vary depending on the case of its object.

< When a preposition ends in a vowel and the following word begins with a vowel, the final
vowel of the preposition may be dropped and marked with an apostrophe (“elision”).

LETO. OVTOV »  UET OWTOV
< When apreposition ends in a vowel and the following word begins with a vowel and rough
breathing, the consonant before the vowel in the preposition often changes as well.

LETOL DV »  ued ov
Adjectives

S.46  Function. Adjectives can function one of two ways.

= When an adjective functions adjectivally, the adjective agrees with the noun it modifies in
case, number, and gender.

= When an adjective functions substantivally, its case is determined by its function. Its gen-
der and number are determined by what it stands for.
S.47  Positions. Adjectives can occur in one of three positions.
= An adjective in the attributive position is immediately preceded by the article.

= Anadjective in the predicate position is not immediately preceded by the article. The noun
is modified by the article.

= If there is no noun for the adjective to modify, the adjective must be functioning substanti-
vally. Adjectives used substantivally are regularly (but not always) preceded by the article.

S.48  When there is no article before the noun or adjective (“independent position”), check the con-
text to determine your translation.
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S.49
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Adijectives fall into four basic categories, depending on which declension they follow and

whether the feminine and masculine forms are the same or different. The masculine and neuter
always follow the same declension.

category  masculine feminine neuter
2-1-2 2 declension 1 declension 2 declension
3-1-3 3 declension 1 declension 3 declension
2-2 2 declension 2 declension 2 declension
3-3 3 declension 3 declension 3 declension
Pronouns
S50 Form
< A pronoun always takes its number and gender from another word, either the word it is
modifying or its antecedent.
= A pronoun takes its case from two possible sources. (1) If it is modifying a word (like an
adjective), it agrees with that word in case (as well as number and gender). (2) Otherwise,
it takes its case from its function in the relative clause.
= Pronouns, other than personal pronouns, always introduce a dependent clause.
S.51 Personal pronouns
first second translation
nom sg Y0 oV | you
gen sg wov  (éuov) o0V (oov) my your
dat sg pot  (éuot) oot (oot) to me to you
acc sg ue (ue) o€ (o€) me you
nom pl MUELG VUELG we you
gen pl NU®V VUV our your
dat pl nuv DUy to us to you
acc pl MUOIC VUOG us you
= ovtdg can function as the third person personal pronoun.
S.52 Other uses of avtog
= Adjectival intensive. avtdg can also function intensively when it is used adjectivally. In
this case avtog normally modifies another word and is usually in the predicate position.
Translate ovtog with the reflexive pronoun (himself, herself, itself, themselves, etc.). In this
case, ovtog is usually in the nominative case and modifies the subject.
= ldentical adjective. o0tdg is sometimes used as the identical adjective meaning “same.” It
is normally in the attributive position when used this way, but not always.
S.53  Demonstrative pronouns

The demonstratives in Greek are obtog (this/these) and éxetvog (that/those).
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S.54

= When a demonstrative functions as a pronoun, its case is determined by its function in the
sentence.

= If a demonstrative is functioning as an adjective, it is written in the predicate position
although it is translated as an attributive adjective.

= A demonstrative can weaken in force and be used as a personal pronoun.

e The forms of obtog

masc fem neut masc fem neut
nom 0010g oVt TOUTO oDTol o0Ton TOTOL
gen TOUTOV TO0TNG TOUTOV TOUTWV TOUTWV TOVTWV
dat T00TQ Tt TOUTQ TOVTOLG TOUTOILG TOUTOLG
acc TOVTOV To0TNV TOUTO TOUTOUG TONTOG TOOTO,

Relative pronouns

= Ifthe relative clause modifies a word, then the relative pronoun is translated with the sim-
ple “who,” “which,” or “that.”

The man who is sitting at the table is my pastor.

= Relative clauses can perform almost any function that a noun can. In these cases, it may be
necessary to add a pronoun to the clause.

2 1 2

masc  fem neut translation
nom sg 0c | 0 who/which/that
gen sg od g ob of whom/which
dat sg ® l ® to whom/which
acc sg ov nv 0 whom/which/that
nom pl ot ol o who/which/that
gen pl av av av of whom/which
dat pl olg oig olg to whom/which
acc pl oug oG o whom/which/that

Dependent Clauses

S.55

S.56

A dependent clause is a collection of words that cannot stand alone. It has meaning only when
it is part of a complete sentence; it is dependent upon that sentence. As you are looking for the
main subject and verb in a sentence, you will never find them in the dependent clause.

e lvo e gav e gl e 0nwg

e 01 ®  @oTe *  KoOwWe e 0c, M O

Personal pronouns in the nominative. When a personal pronoun occurs in the nominative, it
is for emphasis or to clarify the gender of the subject. Often the emphasis is by way of contrast.

ovy 0g €yw BEAmw oAl wg ov (Matt 26:39).
Not as | will but as you (will).
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S.57

S.58

S.59

S.60

English Verbal Grammar

Terms

Summary of Basics of Biblical Greek

Verb. A verb is a word that describes action or state of being. “I am studying Greek.” “Greek is
the heavenly language.”

Agreement. A verb must agree with its subject in person (first, second, or third) and number
(singular or plural). A Greek verb accomplishes this by using personal endings.

= The Greek sentence does not require an expressed subject.

Tense. “Tense” in English refers to the time when the action of the verb takes place. English
verbs are centered on three different tenses (present, past, past perfect). From these three forms

all the variations of the verb are formed.

= If you study your Greek right now, then the verb is in the present tense (“study”).

= If you are planning on studying tomorrow, then the verb is in the future tense (“will

study”).

= If you studied last night, then the verb is in the past tense (“studied”).

= When you use the helping verbs “have” or “has” (past perfect), the action described was

done in the (recent) past and the statement is accurate up to now.

= The English present can describe an action with current consequences (“It is written”). This
is close to the Greek perfect.

Formation of English Tenses

regular active
irregular active

regular passive
irregular passive

regular active
irregular active

regular passive
irregular passive

regular active
irregular active

regular passive
irregular passive

Past simple

| studied
| ate

| was studied
| was eaten

Present simple

I study
| eat

| am studied
| am eaten

Future simple

I will study
I will eat

I will be studied

| will be eaten

Past progressive

I was studying
I was eating

I was being studied
I was being eaten

Present progressive

I am studying
I am eating

I am being studied
I am being eaten

Future progressive
I will be studying

I will be eating

I will be being studied
I will be being eaten

Past perfect

| had studied
| had eaten

| had been studied
| had been eaten

Present perfect

| have studied
| have eaten

| have been studied
| have been eaten

Future perfect

I will have studied
I will have eaten

| will have been studied
| will have been eaten

= The past tense of an English verb is formed one of two ways. A regular verb forms its past
tense by adding “-ed.” “I study all the time.” “I studied all last night.” An irregular verb
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forms its past tense by altering its actual stem. Usually the vowel is changed. “| eat break-
fast every morning.” “I ate last night as well.”
S.61  Voice. “Voice” refers to the relationship between the subject and the verb.
= Ifthe subject does the action of the verb, then the verb is in the active voice. “Bill hit the ball.

= If the subject receives the action of the verb, the verb is in the passive voice. “Bill was hit by
the ball.” Sometimes there will be a prepositional phrase specifying who or what is doing
the action of the verb (e.g., “by the ball”).

= Greek has a third voice called the middle (see below).

S.62  Mood. Mood refers to the relationship between the verb and reality.

= Averbisintheindicative if it is describing something that is, as opposed to something that
may or might be (including statements and questions).
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S.63

S.64

S.65

S.66

S.67

S.68

S.69

Summary of Basics of Biblical Greek

Greek Verbal Grammar

Formation

Augment. Greek indicates that a verb is in the past time by adding an “augment.”

= Ifthe verb begins with a consonant, the augment is an epsilon, always with smooth breathing
(Moo » Elvov).

= Ifaword begins with a single vowel, the augment is formed by lengthening that vowel (o » n,
€>M 0> ).

= Ifaverbbegins with a diphthong, either the first letter of the diphthong lengthens (svyopiotéw
» Moyopiotouv), or the diphthong is not changed at all (evpioxw » gbpioxov).

Consonantal reduplication. If a verb begins with a single consonant, that consonant is redupli-

cated and the two consonants are separated by an epsilon (A\v » Aedv » AéAvka).

= If the consonant that was reduplicated is o, x, or 0, the reduplicated consonant will change
to =, , or 1, respectively (dpovepow » dedpovepo » mEDaVEPWKQL).

Vocalic reduplication. If a verb begins with a vowel or diphthong, the vowel is lengthened.
The vocalic reduplication is identical in form to the augment in the imperfect and aorist
(ayomow » Nyomnko).

= Ifthe verb begins with two consonants, the verb will usually undergo vocalic reduplication
and not consonantal reduplication (*yvo (ywookw) » €yvoko).

Stem. The stem of a verb is the part of the verb that carries its basic meaning. The form Avouev

means “We destroy.” The stem is *Av. Lexicons list up to six different tense forms of a verb.
OYOTOW, OYOTNOW, NYOTNOO, MYOTNKO, NYUTNUOL, OyOmnOncouoil

They are: present; future active middle; aorist active/middle, perfect active; perfect middle
passive; aorist passive (future passive). If the verb occurs in the New Testament in the imper-
fect, we have included the imperfect as well, but in parentheses.

gpyopo, (MExounv), éevoopon, NABov or AABo, eanAvbo, -, -
If the aorist passive does not occur but the future passive does, then we list the future passive
as the sixth form (e.g., ayonndnoouon).

Tenseformative. The tense formative is a letter or group of letters added to the end of the tense
stem to form a specific tense.

Connecting vowel. A connecting vowel is added between the tense stem and a suffix (e.g.,
tense formative, personal ending) to aid in pronunciation.

= Inthe indicative mood, if the personal ending begins with mu or nu, the connecting vowel
isomicron(Aey + o + uev » Agyouev); the connecting vowel in every other case is epsilon (Aey
+¢e +1e » Aeyerte). If no personal ending is used, the connecting vowel can be either omicron
or epsilon.

Lexical form. The lexical form of verbs is the first person singular, present indicative.

= Deponent verbs will show a present middle/passive lexical form.
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S.70

S.71

Parse. When you parse verbs, specify the verb’s tense, voice, mood, person, number, lexical
form, definition of inflected form.

Deponent. A deponent verb is middle or passive in form but active in meaning. You can tell if
a verb is deponent in a particular tense by looking at its lexical form.

If a verb is a present middle or passive deponent (and therefore the imperfect), its lexical
form will end in opou.

If a verb is a future middle deponent, its second tense form will end in —opou. If a verb has
a future passive deponent, it will not have a second tense form but it will have a sixth.

If a verb is an aorist middle deponent, its third tense form will end in -nunv.

If a verb is a perfect middle or passive deponent, it will not have a fourth tense form but it
will have a fifth.

If a verb is an aorist passive deponent, it will not have a third tense form but it will have a
sixth.
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S.72  Personal endings. Personal endings are suffixes that are added to the end of the verb and indi-
cate person and number. Primary personal endings are used in the unaugmented tenses, and
the secondary are used in the augmented tenses.

primary tenses secondary tenses
A (-) E\vov (v)
N AeLC (c) ENVEC (c)
£ el 1) Elve(v) (-)
; Adouev (uev) £Avouev {uev)
) \ete (te) ENVETE (te)
Avovat(v) (vou) E\vov (v)
= Avopon (o) £aouny {unv)
= Aom (oou) £A00V (co)
= AveTON (ton) £AVETO (to)
:_: Avouedo (uebou) £avouedo; (uebol)
-3 AMecBe (0B¢) £\0ecOe (oBe)
Avovton (vton) £AVOVTO (vto)
primary secondary
regular alternate regular alternate
active
1sg Mo o - u £Avov ov
2sg AeLg £ C £\veg
3sg Vet €1 ouv) Elve € -
1pl Avouev 0 uev £NvoueV 0 uev
2 pl Moete £ 1€ ENVETE € 1€
3pl Movoiv) o vouv) oot £\vov Y oo
middle/passive
1sg Avouon 0 poi £Auounv 0 unv
2sg Aon £ ool £A00V € 00
3sg AveTon € o EMVETO € 10
1pl AuouedoL 0 uedo £\uouebo. o uebol
2 pl MecOe £ obe £\ecOe € obe

3pl Aovtol 0 vio £A0oVTO 0 V10



Greek Verbal Grammar

19

S.73  The Master Verb Chart summarizes all these issues. It must be learned perfectly.
Master Verb Chart

Tense Aug/  Tense Tense Conn.  Personal 1st sing

Redup stem form. vowel  endings paradigm
Present act pres o/e prim act Ao
Present mid/pas pres o/¢ prim mid/pas Avopon
Imperfect act € pres o/t sec act EAvov
Imperfect mid/pas ¢ pres o/t sec mid/pas gavouny
Future act fut act o o/t prim act Ao
Liquid fut act fut act €0 o/¢ prim act LEVD
Future mid fut act o o/t prim mid/pas TOPEVOOLOL
1st future pas aor pas ono o/t prim mid/pas Avbnoouon
2nd future pas aor pas no o/t prim mid/pas GmOGTAUANGOUOL
1st aorist act € aor act oo sec act £\voo.
Liquid aorist act € aor act o sec act guevol
2nd aorist act € aor act o/e sec act ELoBov
1st aorist mid € aor act oo sec mid/pas gAvoouny
2nd aorist mid € aor act o/e sec mid/pas £yevounv
1st aorist pas € aor pas on sec act V0NV
2nd aorist pas € aor pas n sec act £ypaonv
1st perfect act Ae perf act Ko prim act ALK
2nd perfect act Ae perf act o prim act YEYova,
Perfect mid/pas Ae perf pas prim mid/pas AEdvuon
pres act subj pres o/ prim act Aow
pres mid/pas subj pres o/ prim mid/pas Aowpon
1 aorist act subj aor act oo, o/n prim act Ao
1 aorist mid subj aor act ool o/n prim mid/pas Avompon
1 aorist pas subj aor pas on o/n prim act 200
2 aorist act subj aor act o/ prim act AOBw®
2 aorist mid subj aor act o/ prim mid/pas YEVOUOL
2 aorist pas subj aor pas o/ prim act YPOH®
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Other Verbal Issues

Aspect and Time

S.74

S.75

S.76

Aspect. The basic genius of the Greek verb is not its ability to indicate when the action of the
verb occurs (time), but what type of action it describes, or what we call “aspect.”

= The continuous (“imperfective”) aspect means that the action of the verb is thought of as
an ongoing process.

= The undefined (“perfective”) aspect means that the action of the verb is thought of as a sim-
ple event, without commenting on whether or not it is a process.

= The perfect aspect describes an action that was brought to completion but has effects car-
rying into the present. “Jesus has died for our sins.” “It is written.” Because it describes a
completed action, by implication the action normally occurred in the past.

Tense. A Greek tense carries two connotations: aspect and time. We use the term *“tense” to
refer only to the form of the verb (e.g., present tense, future tense, aorist tense), and we do not
use the term to designate when the action of a verb occurs. We always use the term “time” to
describe “when” the action of that verb occurs.

Time. The time of a Greek verb is always from the standpoint of the writer, not the reader.

Middle Voice

S.77

S.78

S.79

S.80

The vast majority of middle forms in the New Testament are deponent.
Some words, even in the middle, have basically the same meaning as they have in the active.

A few verbs have one meaning in the active and a totally different meaning in the middle. The
most common example of this is dapyw, which in the active means “I rule” but in the middle
(apyouon) means “I begin.”

The classical definition of the middle voice is that the action of a verb in the middle voice in
some way affects the subject. We will call this the “self-interest” nuance of the middle.

e This is not necessarily the reflexive idea. If the subject of the verb performs an action to
itself, Hellenistic Greek normally requires the reflexive pronoun (¢ovtov). Rather, in the
middle the subject does the action of the verb to the direct object, and yet the action of the
verb in some way affects the subject.

OLTEW active: I ask
middle: | ask (for myself)
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Roots and Stems

S.81

S.82

S.83

The “root” of a verb is its most basic form. The “stem” of a verb is the basic form of that verb
in a particular tense.

The verbal root and the present tense stem can be the same, or the root can be altered when
forming the present tense stem.

The present tense stem is never altered to form another tense stem; the present tense stem
is often a modified form of the verbal root.

All tenses are formed from the root, never the present tense stem (except for the imperfect).

Patterns

Pattern 1. Verbal Root and the Present Tense Stem are the same.
= roots ending in an iota or upsilon (e.g., edkov » 0KOVW; XKOVL » AKOVOW);
= contract verbs (emole » moE®; @TOLE » TOINOW);
= roots ending in a stop (eBrem » BAEN®; oBAET » PAEY).

Pattern 2. Roots ending in a stop.

= w/oiw verbs. The present tense stems of verbs that end in1{w or alw are gener-
ally formed from roots that actually end in a dental.

= ooow verbs. The present tense stem of verbs that end in aocow are generally
formed from roots that actually end in a velar.

Pattern 3. Double consonants. Present tense stems that end in a double consonant are often
from roots with a single consonant.

Pattern 4. Letter(s) added. Some roots add a letter or letters to form the present tense stem.
The added letter will not appear in the other tenses.
= lota. Some roots add an iota to form the present tense stem.
ep + 1 » olpw (present)
0D v opd (future)
= (Jok. Some roots add ox (or ok if the stem ends in a consonant) to form the
present tense stem.
eyvo + 0K  ywokw (present)
eyVo v yvaoouon (future)
Pattern 5. Different roots altogether. Some verbs have totally different forms in the future.
*0po. » OPOL® | see
*Om » Oyouol I will see
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Present

S.84

Tenses

Summary of Basics of Biblical Greek

The present active indicative verb describes an action that usually occurs in the present. It can
be either a continuous (“l am studying”) or undefined (“I study”) action.

= Greek differentiates the present active from the present middle and passive by using two
different sets of personal endings.

Active

1sg
2sQ
3sg

1pl
2 pl
3pl

A0
A0
A0
A0
A0
A0

la

€l

0 uev
e 1€

ovot(v)

Middle /Passive

1sg
2sQ
3sg

1pl
2 pl
3pl

A0
A0
A0
AV
A0
A0

0 Uot
n
Tol

o~

uebo
€ obe

0o viot

I am loosing
You are loosing
He/she/it is loosing

We are loosing
You are loosing
They are loosing

I am being loosed
You are being loosed
He, she, it is being loosed

We are being loosed
You are being loosed
They are being loosed

O -

e ¢

€ 1

0 uev

P £

0 Vol
0 uot
€ oo
€ 1Ol
0 uebo
€ obe
o v
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Future

S.85  Meaning. The future tense describes an action that will occur in the future.

S.86  Form. The future active and middle are the same form. The future passive is formed from the
unaugmented aorist passive stem.
S.87  Translation. As a general rule, translate the future with the undefined aspect (“I will eat™)

rather than the continuous (“I will be eating”).

future active

1sg Mo I will loose - Ao
2sg M o g1 You will loose c AeLg
3sg M o gl He/she/it will loose 1 AeL
1pl A0 o ouev We will loose uev Avouev
2 pl M o e1e You will loose 1€ \oete
3pl A 6 ovoiv) They will loose Vol Avovouv)
future middle

1sg TOPEL G O UOL I will go Loct Avouon
2sg TOPEY O 1 You will go ool aom
3sg TopeY G € TO He/she/it will go ToL AveTon
1pl TopeL © O pebo We will go uebo Auouedo
2pl Topey © € obe You will go obe MecBe
3pl TOPEL G O VIO They will go vTol Avovton
first future passive

1sg Av ONo o pou I will be loosed Lot

2sg Av 0o 1 You will be loosed oot

3sg Av Ono & Tton He/she/it will be loosed TOl

1pl A Onc O pebo We will be loosed nebo

2 pl A Ono € obe You will be loosed o0

3pl A o o vton They will be loosed 0o viol

Second future passive

1sg OTOOTOA NG O HoL I will be sent 0 upot

2sg OmooToA Mo 1 You will be sent £ oot

3sg GmOCTOA NG € TO He/she/it will be sent € Ton

1pl OMOOTOA Mo O uedo We will be sent o uedo

2pl GmOCTOA Mo € ofe You will be sent e obe

3pl OTOOTOA NG O VIO They will be sent 0 vion
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Imperfect

S.88

Summary of Basics of Biblical Greek

The imperfect tense is generally translated as a past tense, always with continuous aspect.

Imperfect active

1sg £l o
2sg £ e
3sg £l e
1pl €M o
2pl €M g
3pl £ o

Imperfect middle/passive

1sg £ 0
2sg Y MVIo)
3sg €A €
1pl €M 0
2pl €A €

3pl &0 o0

(v)

nev
(3
\Y

unv
v
TO

uebot
ofe

V10

I was loosing
You were loosing
He/she/it was loosing

We were loosing
You were loosing
They were loosing

I was being loosed
You were being loosed
He/she/it was being loosed

We were being loosed
You were being loosed
They were being loosed

o Vv
€ G

e - (v
0 uev
€ 1€

o W

0 unv
€ 00

€ 10

0 uebo
e ofe
0 VI0

PRV
pRVala

AVEL

Avouev
AVeTE
Avovot(v)

Avouon
Aom
Moeton
AuouedoL

AVecBe

AvovTOoi
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Aorist

S.89  The aorist tense describes an undefined action that normally occurs in the past.

= The aorist is always undefined. In translation you use the simple form of the English past
tense: “I studied”; not, “l was studying.”

S.90  The Greek tense parallel to the English “regular” formation is called the first aorist while the
“irregular” is called the second aorist.

S.91  The middle and passive are distinctly different forms

S.92 First aorist

= Theaoristactive is formed from the first aorist tense stem, which is generally the same form
as the present tense stem

First aorist active

1sg £\ oo I loosed oo - £\oBov
2sg £\ oo ¢ You loosed oo c £\oBeg
3sg £ A oe (v) He/she/it loosed oo — (V) Enofe(v)
1pl £ A0 oo pev We loosed oo, uev £AaBouev
2 pl £ M oo e You loosed oo, 1€ E\oBete
3pl € v oo v They loosed co. v ELafBov
First aorist middle

1sg £ Av oo unv I loosed oo unv £yevounv
2sg EM oW You loosed oo, 00 £YEvou
3sg € A oo 10 He/she/it loosed oo 10 £YEveTo
1pl € A oa uebo We loosed oo, uedo £yevouedo
2pl € M oo oBe You loosed oo obe £yéveobe
3pl £ M o0 VT0 They loosed oo, V10 £YEVOVTO
First aorist passive

1sg €A 0 v I was loosed on v £\uov
2sg € A0 0N ¢ You were loosed on c ENVEG
3sg £ A0 O He/she/it was loosed on - £\ue
1pl € A0 On pev We were loosed on  uev £Avopev
2 pl € A0 0N 1e You were loosed on Te \VeTE
3pl € A0 On oav They were loosed on  ocav €Avov

= Stems ending in a stop (aorist active/middle). First aorist stems ending in a labial form a
psi when joined to the tense formative. Stems ending in a velar (including oc.ocw verbs) form
a xsi. Stems ending in a dental (including 1w and oZw verbs) lose the dental.
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= Stems ending in a stop (aorist passive). If the final stem consonant is a stop, it changes to
its corresponding aspirate before the 6 in the aorist passive (n/¢ » 6; x/y » x; ©/8 » o).

= Second aorist stems with first aorist endings. Occasionally you will find certain second
aorist forms with an alpha instead of an omicron as the connecting vowel (gitov » €inowv;
NABov » AAOLY).

Second aorist

= Stem. In the active voice, a second aorist will always have a different stem from the present
because the root will always have been modified to form the present tense stem. The only
difference between the imperfect and second aorist active is the tense stem (e.g., éBoAAov
Vs. EBalov).

Second aorist active

1sg € M ov I took o v ELvov
2sQ € M € ¢ You took € C £NVEC
3sg € Mo € (V) He/she/it took e - Elve(v)
1pl € MdB 0 uev We took 0 Lev £AVoUEV
2pl € AP € 1 You took e Te E\vete
3pl £ MB ov They took 0 v £\vov

Second aorist middle

1sg € yeEV O Unv | became 0 unv £luounv
2sg € yév 0 v You became € 60 EAVOV
3sg £ YEV € 10 He/she/it became € 10 £AVETO
1pl € yev O uebo We became 0 uedol £Auouedo
2 pl £ Yév € obe You became € obe £\ecOE
3pl € YEV 0 V10 They became 0 V10 EAVOVTO

Second aorist passive

1sg € ypop M v I was written n % NNV
2sQ € ypod M ¢ You were written n C £AV0ONG
3sg € ypoup M He/she/it was written n - 00N
1pl € YpOh M UEV We were written n Lev £AVONuUEY
2 pl € ypod M 1€ You were written n 1€ £AvnTe
3pl £ ypoh M oov They were written n oo gAvbnoov
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Perfect

S.94

Translation. The perfect can be translated two basic ways.

27

- |If the emphasis of the context is on the completion of the event, use the helping verbs

“have/has” and the past participle form of the verb (e.g., “has eaten™).

= |If the emphasis of the context is on the current implications of the action, use the English
present tense (“It is written.”)

First perfect active

1sg AEAVKOL
2sg AEAVKOG
3sg AEAVKE(V)

1pl AeAVKOLEY
2 pl AedvKoTe
3pl AeAvKaoLV)

First perfect middle/passive

1sg AEA VU
2sQ AEAvoo
3sg AEAVTOL

1pl AeAVUEDOL
2 pl AEAVGOE
3pl AEAVVTOUL

| have loosed
You have loosed
He/she/it has loosed

We have loosed
You have loosed
They have loosed

| have been loosed
You have been loosed
He/she/it has been loosed

We have been loosed
You have been loosed
They have been loosed

Ko
Ko

K€

Ko
Kol
Ko

nev
(3

ot (v)

Hor
oo

T

uebol
obe

VToll

£\vuoa
£AVo0iC

£\voe(v)

EAVo0UEY
eMdoote

£\voov

Avouon
aom
AveTon
Avouedo

AVecOe
AvovTOlL
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Overview of Indicative

present imperfect future Istaorist  2nd aorist  perfect
active indicative
1sg Ao E\vov PNV [0 E\voa. ELafov AEAVKOL
2sQ AVEIC ENveC AVoELg £\ vooiC ENoBeC AEAVKOC
3sg Vet Elve(v) Mooet €\voelv) ELoBelv) AEAVKE(V)
1pl Avouev £AvopEY Avoouev EAVOOUEY £\oBouev AelvKopEV
2 pl \ete ENVETE Moete gAvoOITE ENOBeTE Aedvkote
3pl Avovoi(v) €Avov Aoovot(v) Elvoay Erafov AeAvKaoLv)
middle indicative
1sg Avouon £vounv Adoopon gAvoouny £yevounv Aélvpon
2sg Aom £AV0V Avon EAVOW £YEVOL A€lvooi
3sg AveTon EMVETO AooeTon EMUO0TO £yEveto AéAVTOL
1pl Auouedo £\vouedo; Auoouedo gAvooyedo £yevopedo AeAvpedo
2 pl MVecBe £NecOE AMoecBe EMvooIo0E £yéveode AEAVGOE
3pl Avovton EAVOVTO Avoovton EAMUO0LVTO £YEVOVTO AEAVVTOL
passive indicative
1sg Avouoi £uounv Avbnoopon ANV £ypapnv A€Alupon
2sg Aom £AV0V Avbnom £AVONg £YpadNg Aélvooi
3sg AveTON €A0ETO AvdnoeTol £A00N £ypodn AEAVTON
1pl Avouedo £Auouedo AvOnoouedo £A0ONUEV £ypodmuev AgAlvuebo
2 pl AVec0e £AMVECDE AuBnoeode EAVONTE £ypadnte AEAVOOE
3pl AvovTOiL £M00oVTO AvOnoovton EMVOnoOV £ypadnoov AEALVTOIL
et

present imperfect future
1sg el unv £oopon
2sQ €l N, Nodo gon
3sg €otilv) nv €oTon
1pl £0UEV Nuev, Nuedo gooueo
2 pl £0TE nte £0e00e
3pl etot(v) noov €oovTon

= i will be followed by a predicate nominative, not a direct object.
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S.95

Specialty Verbs

For the paradigms of the following forms, see your textbook.

Compound Verbs

S.96  Acompound verb is a verb that is made up of two parts, a preposition and a verb. For example,
gxBorio (“I throw out”) is a compound of the preposition éx (“out”) and the verb BaAlw (“I
throw”).

S.97  Compound verbs form their tense stems the same way as the simple verb. For example, the
future of BaAAw is Bod®, and the future of éxBoiiw is éxBoA®.

S.98  The augment comes after the preposition and before the stem of the verb. The imperfect of
KkorroBoive is KoteBovov.
= Whenever the preposition ends in a vowel, that final vowel will either drop out before the

augment or in a few cases (such as compounds with mept) it stays but will not contract (e.g.,
TEPITMOLTEW » TEPLETOLTOUV).

S.99 A compound verb reduplicates the verbal part of a compound verb, just like the imperfect and

aorist augment the verbal part of a compound.
EKBAAL® v exBeEBANKOL

Contract Verbs

S.100 Contract verbs are verbs whose stems end in alpha, epsilon, or omicron. When that final stem
vowel comes into contact with the connecting vowel, the two vowels contract.
= There always will be a circumflex over the contracted vowels in the present active indica-

tive.
= The lexical form shows the contract vowel (ayoraw), but if that form actually occurs in the
text the contract vowel and omicron will have contracted (oyon®, mol®, TANP®).
= In the first person singular, no personal ending is used so the connecting vowel lengthens
to omega.
= The second person singular seems to follow its own rules.
S.101 Rules of Contraction

1. ovisformed by ¢o, og, and oo.
ov « €0 TCOLOf)uSV ‘ TLIOLEOUEV
oV« O TANPOVTE <« TAnpoete
2. euis formed by ee.
€l « €€ TOLELTE ‘ TIOLEETE
3. o is formed from almost any combination of omicron or omega with any other vowel,
except for rule #1.
®w <« 00 OYOTTOUEY  «  OYOTOLOUEV

®w <« ooV AYOTDOL < OYOTOoLoL
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4. o isformed from oe.
o < 0g AYOmOTE < OYOTOETE
o <« ogl YT < OyoToEL
5. misformed from ea.

n < E0l TCOLﬁ < TOINL « TOLEQL « TTOLECOIL
6. Miscellaneous

oL <« o€l TANPOLG <« TAMPOELC
TANPOL <« TANPOEL
7. The contraction of diphthongs

a. If the contract vowel and the first vowel of the diphthong are the same, they simplify.
€1 « ggl TOLELG «  TOLEELg
oV <« 00V TANPOUGL  «  TANPOOVGL

b. If the contract vowel and the first vowel of the diphthong are different, they contract.

If the second vowel of the diphthong is an iota, it subscripts if possible; if it is an upsi-
lon it drops off.

ov < €0V TOLOVOLY ‘ TIOLEOVOL

8. Contract verbs contract as if the true personal endings are those visible in the present active
indicative.

S.102 Lengthening. The contract vowel lengthens before a tense formative. Alpha and epsilon both
lengthen to eta while omicron lengthens to omega.

*oyotoe + 6+ @ > OYOTNO®
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Stems ending in a stop
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S.103 Ifthe stem of averb ends in a stop, when the sigma of the future/aorist tense formative is added
to the stem, the following changes occur.

Labial

Velar

Dental

o
Bo
0o

Ko
Yo
Xo

16
e
0o

>

»

»

1} BAem +
U4

v ypop  +
£ dlwx  +
g oy

13 Eheyy +
o

o Bomtid +
o el +

cw

ow

ow
cw
ow

ow
cw

BrEWW

YPoyw
SLEW
GEW
EAEYEW

Bomtion
TELoW

S.104 Verbal roots that end in a stop undergo significant change in the perfect middle/passive
because they are placed immediately next to the consonant of the personal ending.

port
ool

T

uebol
obe

vTol

labial (x B )

YPOLOW

YEYPOpLOL
YEYPOPOL

YEYPOTTTOL

yeypouuedo:
YEYPOHOE

€101 YEYPOUUEVOL

velar (k vy )

S1K®

Sedlwyuon

dedlwEot

dedlmkTon

ded1wyuedo

Sediwyde

glol dedlmwyuévol

dental (t & 0)
neldw

TETELOUOL
TENMELOOL

TEMELOTOL

menelouedo
TENELO0E

€10l TEMEIOUEVOL

S.105 Stops change when immediately followed by a theta in the aorist pasive.

mo
BO

kK0
ve

0 >
60
00

60
ol

X0
X0

ool
o0
o0

offier +6On >
eAnup + Onv

odwKk +6n

ey +6n »

oottt On >
encld +6n »

1

£BAEGONV
EATUOOMV

£810yonv

xenv

£Bamtictnv

éneloOnv

There is no example of this combination in aorist verbs in the New Testament.
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Liquid Verbs

S.106 Theconsonants A, u, v, andp are called “liquids.”
S.107 Liquid Future. A liquid future adds ec and then the connecting vowel. However, a sigma does
not like to stand between two vowels so it drops out, and the epsilon and connecting vowel
contract (uev + €6 + 0 + UEV » LEVEOUEV » LEVOUUEV ).
1sg LEVD I will remain oL HEVW
2sg LEVELG You will remain TOLELG HEVELG
3sg LEVEL He/she/it will remain TOLEL HEVEL
1pl LEVOUUEV We will remain TOLOUUEV ~ UEVOUEV
2pl UEVELTE You will remain TOLELTE UEVETE
3pl uevovouv)  They will remain nowovouv)  pévoustiiv)
1sg LLEVOVHLOL I will remain TOLOVUOL  UEVOUOL
2sg uevn You will remain 7o uevn
3sg LLEVELTOL He/she/it will remain TOLELTOL LEVETOL
1pl puevoovpebo  We will remain nolovpuebo,  pevouedo
2pl HEVELGOE You will remain TOLELGOE ueveoe
3pl puevovvtor  They will remain TOLOVVTOL  UEVOVTOL
= The future of a liquid verb looks just like the present tense epsilon contract verb.
= Accents. The accent can also be helpful in identifying a liquid verb (but not in distinguish-
ing it from an epsilon contract). A liquid future always has a circumflex over the contracted
vowels.

= Stem changes. Along with the different tense formative, the stems of liquid verbs some-
time undergo a change in the present. For example, Bodo is the future form of the verbal
root *Bak, which has the present tense form Boiw.

S.108 Liquid aorists. Instead of adding ca as the tense formative, liquid verbs add only alpha and

then sometimes modify the tense stem.
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Tense Stems of Verbs Occurring
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Fifty Times or More in the New Testament

The following forms that are underlined should probably be memorized. See BBG for a fuller discussion
of this chart and the explanations for each individual form.

present
OLYOLTTOL®
Ayw

oipw

OLTEW
OKOAOVOEW
OKOVW
ovoBove
OVIoTNUL
ovoly®
OEPYOLLOLL
omodvNoK®
OMOKPIVOuLOiL
OTOKTELV®
oAl LUL
OTOAVW
OTOGTELAM
opYw
ooTaLoUoi
gdinuL
BoArw
Bomtilw
BAET®
YEVVOW
ylvopo
YIVOOK®
Ypadw

3€l
dexopon
present

31300k

future
QYOO
AEW

ap®

oTHoOW
OKOAOVOTIoW
OKOVC®
ovoBnoouoit
VOO THO®
OVolEw
OmeEAEVOOUOL
omoBovoipon
OTOKTEV®D)
OMOAECK
OTOAVCW
OTOOTELD
APEOUOL
AHNow

Bol®
Bomtion
BAEY®
YEVVINO®
YEVNOOULOL
YVOOOUOIL
VPO
deLonon
future
ddatw

aorist act
nyomnoo.
nyoryov
TipoL

ntnoo.
nKoAovOMCO!
nKovoa,
aveRMV
OLVEGTNOO
QVEWED,
amnABov
anEdoVoV
ATEKPLVOUNY
OTETELVOL
OTWAEGOL
AmELVOOL
OMESTEINO,
np&oUNy
NOTOCOUTV
OO
£Bakov
gBantico
£BAeyol
£YEvvnoo
£yevouny
Eyvav
£yponyo.
£8eEounv
aorist act
£8180En

perfect act
NYOTNKO,
Tipxo

Ko
NKoAOVONKO!
OKMKOO!
avoBEBMKo;
AVESTNKO

ameAnivdo

OTTOAWAQ!

ATESTOAKOL

YEYEVVIKOL
YEYOVOL
£YVOKo,

YEYPOLHOL

perfect act

perfect mid/pas
Tyomnuon
Tryno

Tippou

frenuon

OVECTTULOL

QTOAE VIO
OMEGTOMLOL
QLPEDUOL
BEBANUON
BeBamtiomon
YEYEVVILOL
YEYEVILOL
£YVOOUOL
YEYPOpUOL
dedeyuon
perfect mid/pas

aorist pas
nyommemv
xemv
fpbny

nkovoOnv
aveotadnv
ovewyOnv
OnEKPIONV
ATEKTAVONY
omeEAONV
OTESTUANY
oMY
£BANONY
gBomticnv
£yevvnonv
£yevnomy
£yvwodnv
eypadnv
£8ex0mv
aorist pas

£81300Mv
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Stdmut
dokéw
dotalw
duvopon
£yeipw
elul
E1GEPYOLULOL
EKBOAAW
£Eepyouon
EMEPWTOM
£pyoLon
£PWTOW
£00ilw
ooy yeAllm
£UPLloK®
X0

Cow
{ntéw
CTY)
OewpLw
ot
Koo
KOAEW
KoToBoive
KNpUocw
KpaLw
KPOTEW
Kpive
AOAE®D
AopBove
AEY®
LOPTUPE®D
present
LEAA®
HEV®

oo

dwow
S0Ew
dokaom
duvnoouoi
£Yepm

goopon
€10EAEVOOLLOL
EKBoA®
gEedevoouon
EMEPWTNOW
ghevoouon
£PWTNOW
ooyououn
£0PNoW

j320)

{now

{ntow
Oslnow
oTNOW
Konoouoi
KOAEOW
KoToNoopon
KNpuvEw
KpoEw
KPOITOW
KPLVQ
AOANC®
AMuyouon
€00
LOPTUPIOM
future
UEAANCW
LEVD

£1dnow

£dwko
£80&0.
£80E0i00!
nyepo:
Aunv
sloniBov
€EeBakov
EENAOOV
£MNPWTNOO.
nABov
NPWTNoO,
gboryov
ONYYEMOOL
ebpov
£oyov
£lnoo
£lntnoo.
NoEATIoOL
£€0ewpnoo.
£0TN0o0!
EKOAECOL
KoTEBNV
gxknpuEa
£KPOED,
£KPATNO0
£KpLvo.
€AOANCO.
haBov
gimov
ELOPTVPTIOOL
aorist act
guetvol

néev

dedwkol

sloeAnAvo
exBeRANKoL
£EeAnAuOo
£ANAVO0.

gupnKoL

EO0YNKO

£0TNKO,
KEKANKOL
KortoBERnKol
KEKPOLYOL
KEKPOLTNKOL
KEKDLKOL
AEAOATKOL
giAndo.
£1pNKo.
UEULOPTVPTKOL
perfect act
LLEUEVTICOL

Summary of Basics of Biblical Greek

dedopon

dedotoouon

EYNYEPLLOL

£KxBEBANULONL

goNyyEALOUOL

£0TOLOL

KEKANLOL

KEKNPUYLOL
KEKPOLTILLOL
KEKpulon
AghoAnuoi
gllnuuon
glpnuon
HEPOPTUPTOL
perfect mid/pas

£806nv
£8oEoiconv
ndvvndnv
nyepdnv

£EeBANONV

eonyyerioOny
£VPEONV

£lnonyv
noeANONYV
£0T0.OMV
gkATONV
£KxnpuyOnv
gKkpidnv
EAoANONV
EATLOONY
€ppEOY
guopTUPNONV
aorist pas



Greek Verbal Grammar

0poLw
OOEIA®
TOPOSTId WL
TOPOKOAED
nelbw
TEUTW
TEPLTOTEW
Tivw

TITW
TOTEVW
TANPOW
TOLEW
TOPEVOUOL
TPOGEPYOLOL
TPOGEVYOLOL
TPOOKUVED
GUVOY®
owlw
TNPEW
TNt
VIO ®

VIAPYW

oyouoi
TOPUSOOW
TOPUKOUAEC®H
TElow
TELWYO
TEPLTOLTHOW
Tlonoi
TEGOLLOL
TLOTEVOW
TANPWOW
TOINCW
TOPEVOOLLOL
TPOCEAEVOOLLOIL
TPOGEVEOLLOL
TPOCKUVIIOM
GLVOEW
oWow
TpNo®
Onow

VRAEW

VTAPEOLLOL

gidov

TOPES WKL,
TOPEKOAEDT,
gneioo
EMEUYOL
TEPLENATNON
£MoV

£MECOV
EMLOTEVOO,
EMANPOOC,
¢noinoo
mpoonABov
TPOoTLESUNV
TPOCEKVVNOO,
GUVITYOLYOV
£owoo.
£tnpnoo.
£0mKo
VINYOyoV

UrnpgounV

EWPOLKOL

TOPOSESWKOL
TOPUKEKANKO

TETOLO0

TETWKO,
TETTOKO,
TMEMLOTEVKO,
TETANPWKOL
TETOINKOL

npoceANA VOO

GEOWKO,
TETHPNKOL

T€0e1K0

ToPOSESOLLOL
TOPOKEKANUONL

TEMELGUON

TETIOTEVUOL
TETANPWLLOL
TETOINUOL

TETOPEVUONL

CLVIYLLOIL
GECWOLLON
TETHPMUOL
T€0eon
VTyLoL
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woOMV
TopedoomV
ToPEKANONV
£neloOnv
EMEUHONV
TEPLETOLTNONY
Enobny
EMoTEVONV
EMANPWONMV
enomonv
£mopevony

cuvnyonv
£00ONV
etnpnonv
grebny
VIOV



